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lkekU; funsZ’k%lkekU; funsZ’k%lkekU; funsZ’k%lkekU; funsZ’k%    
General Instructions: 

1. ijh{kkFkhZ ;FkklaHko vius ‘kCnksa esa gh mÙkj nhft,A 
Candidates are required to give their answers in their own words as far as 

practicable. 

2. bl Á’ui= esa nks [k.M & A vkSj B gSaA nksuksa [k.Mksa ds lHkh 
Á’uksa ds mÙkj nsuk vfuok;Z gSA 

 [k.M & A ¼HkkSfrdh ,oa jlk;u½        & 52 vad 

 [k.M & B ¼tho foKku½         & 28 vad 

 This question paper has two groups A and B. It is compulsory to answer all 

the questions of both the groups. 

 Group – A (Physics and Chemistry)                                             – 52 Marks 

 Group – B (Biology)          – 28 Marks 

3. ÁR;sd Á’u ds vad mlds lkeus vafdr gSaA 
Marks allotted to each question are printed against it. 

4. 2 vad okys Á’uksa ds mÙkj yxHkx 40&50 ‘kCnksa esa] 4 vad 
okys Á’uksa ds mÙkj yxHkx 50&60 ‘kCnksa esa ,oa 5 vad okys 
Á’uksa ds mÙkj yxHkx 70&80 ‘kCnksa esa nhft,A 
Answer in about 40-50 words the question of 2 marks, answer in about 50-

60 words the question of 4 marks and answer in about 70-80 words the 

question of 5 marks.  

5. lHkh jQ dk;Z Á’u&lg&mÙkjiqfLrdk ds var esa fn, x, i`”Bksa 
ij gh dhft,] vU;= dgha ughaA 
Do all rough work in the last pages of the Question-cum-Answer Booklet 

and nowhere else. 

6. tgk¡ dgha Hkh fp= vko’;d gks] mUgsa LoPNrk ds lkFk Li”V #i 
esa [khafp,A   
Draw neat and clean diagram wherever necessary. 
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1. ;fn R1 vkSj R2 çfrjks/k ik’oZo) gks rks mudk lerqY; çfrjks/k gksrk gS  
 

(a) 1 2

1 2

R R
R

R R
=

+
  (b) R = R1 – R2 

(c) 
1 2

1 1
R

R R
= +   (d) R = R1 + R2 

 

1 

 If  resistance  R1 and R2 are in parallel then their equivalent resistance will be  - 

  

(a) 1 2

1 2

R R
R

R R
=

+
  (b) R = R1 – R2 

(c) 
1 2

1 1
R

R R
= +   (d) R = R1 + R2 

 

 

2. fdlh fcac dk okLrfod rFkk leku lkbt dk çfrfcac çkIr djus ds 
fy,] fcac dks mÙky ysal ds lkeus dgk¡ j[ksa\ 
 
(a) ysal ds eq[; Qksdl ij   
(b) vuar ij 
(c) Qksdl nwjh dh nqxquh nwjh ij  
(d) ysal ds çdkf’kr dsUæ rFkk eq[; Qksdl ds chp  
 

1 

 Where should an object & be placed in front of convex lens to get a real image of 

same size of the object?  

 

(a) At the principal focus of the lens  

(b) At twice the focal length  
(c) At infinity      

(d) Between the optical centre of lens and its principal focus.  

 

 

3. fuEu esa ls fdldk mi;ksx [kkuk cukus okys bZ/ku ds :i esa ugha 
fd;k tkrk gS 
 

(a) CNG     (b) LPG 
(c) ck;ksxSl     (d) dks;yk  

1 

 Which of the following fuel is not used for cooking ?  
 

(a) CNG     (b) LPG 

(c) Biogas       (d) Coal  

 

 

4. fuEu esa ls fdl ns’k dks iouksa dk ns’k dgk tkrk gS\ 
 

(a) USA     (b) Hkkjr 
(c) tkiku     (d) MsuekdZ  
 

1 



 Which Country is known as  Country of wind?  

 

(a) U.S.A     (b) India  
(c) Japan       (d) Denmark  

 

 

5. ?kjsyw fo|qr ifjiFkksa esa fdl la;kstu dk mi;ksx ugha fd;k tkrk gS\ 
 

(a) Js.khØe la;kstu   (b) ik’oZØe la;kstu 
(c) fefJr la;kstu    (d) buesa ls dksbZ ugha  
 

1 

 Which arrangement is not used for domestic circuit?  

 

(a) Series arrangement    (b) Parallel arrangement  
(c) Parallel arrangement    (d) None of these   

 

 

6. larjk esa dkSu lk vEy ik;k tkrk gS\ 
 

(a) flfVªd vEy    (b) VkVZfjd vEy  
(c) vkWDtSfyd vEy   (d) ySfDVd vEy   
 

1 

 Which acid is found in orange ?  

 

(a) Citric acid     (b) Tartaric acid 

(c) Oxalic acid       (d) Lactic acid  

 

 

7. ;fn foy;u ds PH dk eku 3 gS] og D;k gksxk\    1 
 

(a) vEy     (b) {kkj 
(c) yo.k     (d) buesa ls dksbZ ugha  
 

 

  

 If PH of a solution is 3, then it will be -  
 

(a) Acid      (b) Base 

(c) Salt       (d) None of these  

 

 

8. fojatd pw.kZ dk lw= gS &          1 
 

(a) CaOCl2     (b) Ca (OH)2 

(c) Ca CO3      (d) CHCl3  
 

 

 Formula of bleaching powder  

 

(a) CaOCl2     (b) Ca (OH)2 

(c) Ca CO3      (d) CHCl3  

 

 

9. vkWDlhtu ds nks ijek.kqvksa ds chp fdrus vkca/k ik, tkrs gS\   1 
 

(a) ,d     (b) nks 
(c) rhu     (d) dksbZ vkca/k ugha  
 

 

 How many covalent bonds are present in methane?   



 

(a) One     (b) Two 

(c) Three     (d) None  

 

10. csathu dk v.kqlw= gS &                               1 
 

(a) CH4     (b) C2 H2 

(c) C6 H6      (d) C2 H14  
 

 

 The molecular formula of benzene is  -  
 

(a) CH4     (b) C2 H2 

(c) C6 H6      (d) C2 H14  

 

 

 [kkyh LFkkuksa dh iwfrZ djsa[kkyh LFkkuksa dh iwfrZ djsa[kkyh LFkkuksa dh iwfrZ djsa[kkyh LFkkuksa dh iwfrZ djsa    
(Fill in the blanks) 

 

11. niZ.k lw= ¾ --------------------- gksrk gS tcfd U= fcac dh nwjh] V= çfrfcac 
dh nwjh vkSj F = Qksdl nwjh gSA 

1 

 Mirror formula = ………….. where U= object distance, V= Image distance and F 

= focal length.  

 

12. ghjk ,oa xzsQkbV dkcZu ds ---------------- gSA 1 

 Diamond and Graphite are ……………….. of carbon.  

13. ,sYdhu dk lkekU; lw= ------------------------------- gSA  1 

 The general formula of alkene is…………………...   

14. vkos'k dk S.I ek=d ---------------------------------- gSA 1 

 The S.I unit of charge is………………………....  

15. lery niZ.k }kjk cus çfrfcac dh fo’ks"krk fy[ksaA 2 

 Write characteristics  of on image formed by a plane mirror.   

16. fudV n`f"V nks"k D;k gS\ bls dSls nwj fd;k tkrk gS\  2 

 What is short sightedness? How can it be removed?   

17. ,d fo|qr ifjiFk dk vkjs[k [khapsA 2 

 Draw an electric circuit .  

18. lksfM;e gkbMªksdkcksZusV ds foy;u dks xeZ djus ij D;k gksxk\ bl 
vfHkfØ;k ds fy, lehdj.k fy[ksaA 

2 

 What will happen if a solution of sodium hydro carbonate is heate   d? Give the 

equation of the reaction involved?  

 

19. fuEufyf[kr jfuEufyf[kr jfuEufyf[kr jfuEufyf[kr jklk;fud lehdj.k dks larqfyr dhftklk;fud lehdj.k dks larqfyr dhftklk;fud lehdj.k dks larqfyr dhftklk;fud lehdj.k dks larqfyr dhft,A,A,A,A    
Balance the following chemical equation  

 

 a) Mg + O2   MgO 2 

 b) MnO2  + HCl  MnCl2 + H2 O  +Cl2 

 
 

 

20. vi:irk fdls dgrs gS\ dkcZu ds nks çeq[k vi:iksa ds uke crk,¡A  2 

 What is allotropy ? Name two allotropes of carbon .   

21. pkyd] vpkyd] v)Zpkyd vkSj vfrpkyd dks mnkgj.k lfgr le>k,¡ 4 

 Define conductor, Insulator, Semiconductor and Superconductor with examples.   

22. thok'eh b±/ku fdls gS\ rFkk thok’keh b±/ku dh D;k gkfu;k¡ gS\  4 



 What are fossil fuels? And what are the disadvantages of fossil fuels?   

23. /kkrq ,oa v/kkrq ds nks HkkSfrd rFkk nks jklk;fud xq.kksa esa varj fy[ksaA  4 

 Write differences between two physical and two chemical properties of metal and 

non metal-  

 

24. NaCl vkSj MgCl2 ds fy, bysDVªkWu&fcanq vkjs[k cuk,¡A  4 

 Draw electron dot diagram of NaCl and MgCl2  

25. 5cm yEck dksbZ fcac 10cm Qksdl nwjh ds fdlh vfHklkjh ysal ls 25cm 

nwjh ij j[kk tkrk gSA çdk’k fdj.k vkjs[k [khapdj cuus okys çfrfcac 
dh fLFkfr lkbt rFkk çd`fr Kkr djsaA 

5 

 An object 5cm in length is held 25cm  away from converging lens of focal length 

10cm. Draw the ray diagram and find position, size and nature of image.  

 

 vFkok@vFkok@vFkok@vFkok@OR  

 Js.khØe esa la;ksftr djus ds LFkku ij oS|qr ;qfDr;ksa dks ik’oZØe esa 
cSVjh dks la;ksftr djus ds D;k ykHk gS\ rFkk 2 Ω , 3 Ω  rFkk 6 Ω  ds 
rhu çfrjks/kks dks fdl çdkj la;ksftr djsaxs fd la;kstu dk dqy 
çfrjks/k 
 a) 11 Ω  b) 1 Ω  gksA 

 

 What are the advantages of connecting electrical devices in parallel with battery 

instead of connecting them in series? And how can three resistor of 2 Ω , 3 Ω  and 

6 Ω  connected to give total resistance of  a) 11 Ω   b) 1 Ω  

 

26. fn, x, fp= esa yo.k ds foy;u dh pkydrk dk ç;ksx fn[kk;k x;k 
gSA [1], [2], [3], [4] ,oa [5] dk ukekadu dhft,A 

5 

 In the given figure the experiment of conductivity of a salt solution is shown. 

Label against [1], [2], [3], [4] and [5]  

 

  

 

 

 

 

 

 

 

 

 

 vFkok@vFkok@vFkok@vFkok@OR  

 fuEufyf[kr ;kSfxdksa dk jklk;fud lw= fy[ksaA  

 Give chemical formula of following compounds   

 (a)  lk/kkj.k ued ¼Simple Solt ½  ¼b½ ty ¼Water½ 
(c) /kksus okyk lksMk ¼Washing Soda½  ¼d½ csfdax lksMk ¼Baking Soda½ 
 

 

 (BIO) thofoKkuthofoKkuthofoKkuthofoKku     

27. :/kzksa dk [kqyuk vkSj cUn gksuk fuHkZj gS & 
(a) lw;Z ds çdk’k ij    (b) çdk’k la’ys"k.k ij  
(c) dkcZu MkbvkWDlkbM ds lkUæ.k ij (d) ok;q ds osx ij    
  

1 



 The opening and closing of stomata depend on -  
 

 (a) Sunlight      (b) Photosynthesis  
 (c) Concentration of CO2     (d) Wind Velocity   
 

 

28. ijkxdks'k esa gksrs gSa 
(a) ckány     (b) vaMk’k; 
(c) vaMi     (d) ijkxd.k   
  

1 

 The anther Contains - 
 

 (a) Sepals      (b) Ovary  
 (c) Ovules       (d) Pollens  
 

 

29. eqdqyu }kjk vySafxd tuu gksrk gS & 
 

(a) vehck esa    (b) ;hLV esa  
(c) IySTeksfM;u esa    (d) ysLekfu;k esa    
  

1 

 Asexual Reproduction through budding takes place in -  
 

 (a) Amoeba      (b) Yeast  
 (c) Plasmodium      (d) Leishmania  
 

 

30. euq"; esa xq.klw=ksa dh la[;k gS &  
 

(a) 46     (b) 24  
(c) 40     (d) 43    
  

1 

 The Number of Chromosome in human is  
 

 (a) 46      (b) 24 

 (c) 40       (d) 43 
 

 

31. ,-Vh-ih- dk iwjk uke ---------------------- gSA 
Full form of A.T.P is ……………………. 
 

  

1 

32. Hkkjr esa ck;ksxSl ---------------------- uke ls çpfyr gSA  
 

In India biogas is popularly known as …………… 

1 

33. jDr dk rjy Hkkx D;k dgykrk gS\ jDr esa IysVysV~l dk D;k dk;Z 
gS\ 
What is the liquid part of blood called as? What is the function of Platelets in the 

blood?  

2 

34. vkgkj&J`[kayk vkSj vkgkj tky esa D;k varj gS\ 
What is difference between a food-chain and a food-web?  

2 

35. thuksa dh fdUgha rhu fo’ks"krkvksa dk mYys[k djsaA  
Mention any three characteristics of genes.  

2 

36. >kj[k.M rFkk fcgkj jkT;ksa esa Hkh f’k’kq&fyax vuqikr rsth ls ?kV jgk 
gSA bldk dkj.k fy[ksaA  
In the stales of Jharkhand and Bihar too, the child-Six ratio is reducing fast. Write 

reason for it.  

2 



37. iks"kh Lrj D;k gS\ ,d vkgkj Jà[kyk ds mnkgj.k nhft, rFkk blesa 
fofHkUu iks"kh Lrj crkb,A  
What are trophic levels? Give an example of a food chain and state the different 

trophic level in it.   

4 

38. fp= dk fujh{k.k djsa vkSj bl ij vk/kkfjr ç’uksa ds mÙkj nsa &  
Answer the question given on the basis of diagram - 

5 

  

 
 

 

 fp= D;k n'kkZrk gS\ 
What does the diagram show? 

 

 fp= esa ^^\** dk D;k uke gS\ 
What is the name of  “ ? ’’ in the diagram?  

 

 fp= esa n’kkZ;h xbZ iÙkh fdl ikS/ks dh gks ldrh gS\  
To which plant may the leaf shown in the diagram belong?  

 

 vkyq esa dkf;d çc/kZu fdl çdkj gksrk gS\ 
How does vegetative propagation take place in potatoes?  

 

 vFkok@ vFkok@ vFkok@ vFkok@ OR  

 ekuo mRltZu rU= dk ukekafdr fp= cukb,A  
Draw a labeled diagram of human excretory system.  

 

39. vkstksu D;k gS\ ;g fdlh ikfjra= dks fdl çdkj çHkkfor djrh gS\ 5 

 vFkok@ vFkok@ vFkok@ vFkok@ OR  

 vehck esa iks"k.k dh fofHkUu voLFkkvksa dk lfp= o.kZu djsaa 
What is Ozone and how does it affect any ecosystem?  

 

 vFkok@ vFkok@ vFkok@ vFkok@ OR  

 Describe different stages of nutrition in Amoeba.   

 


